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COMPUTER NETWORKING & DATA COMMUNICATION

Fuiia o 3R | [Afrhaw 37 : 60
Time allowed : 3 Hours] [Maximum Marks : 60
e () FTH-TA AT Heg iy
Note : There are THREE sections A, B and C in the paper.

(ii) QFITCH FITGEIT1 3 G4 10 9771 & IR GIT | G YT W 3 &7 8 0

G 10 57T TGHE TFR F T F & |

Answer all the 10 parts of the question No. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) QFT & F 8 T3 7 @ 3567 6 I91 & TR T | I Y97 3 37 FT 8 0F
§THT 5 F / 50 Il 4 IR AT |

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) QT &6 377 7 @ el 4 3571 3 TR AT | I8 97 8 37 T8 €F
§THT 15 5T /150 Vgl 7 3w e |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

(v) ¥E% A F GH I B FHEIR TF G §T HHT |
Solve all the questions of a section consecutively together.
(vi) g1 9TSI37 7 37 517 W1 IR F 33 3rgare 1 A= 8

Only English version is valid in case of difference in both the languages.

YA -T
Section — A
1. () OSIHiee § i o1 o &fer o foru e & 2
(a) T i (b) < T oK
(c) TfteTehaM TR (d) ST TRR
Which layer in the OSI model is responsible for routing ?
(a) Network layer (b) Data link layer
(c) Application layer (d) Presentation layer
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(i) HER B 1 3uAN Fepdt Srarertont § fome ST @ 2

(a) =9 (b) R
© fa (d) =
In which topology is a central hub used ?

(a) Bus (b) Star
(¢) Ring (d) Mesh

(iii) TCP 10 TH R 8 ?
(a) TTEH helet STt (b) TS e TEhic
(c) TIEUE Helet Terhiet (d) IR HI TR
What does TCP stand for ?
(a) Transfer Control Protocol  (b) Transmission Control Protocol
(c) Transport Control Protocol (d) Tunneling Control Protocol
(iv) et MAN 1 QU 5 R 2 ?
(a) W TEE "2 (b) WAIMIfeTe Ui Jeah
(c) W HATMhITFR FeaTh (d) TSI TEHE T
What does MAN stand for in networking ?
(a) Master Access Network (b) Metropolitan Area Network
(c) Main Architecture Network (d) Micro Access Network
(v) ATMSIQUARFRIR ?
(a) AIAfeS TR S (b) ARG TR TS

(c) 3T Ter wefH (d) fmfes gram O
What does ATM stand for ?
(a) Automatic Transfer Mode (b) Asynchronous Transfer Mode
(¢) Auto Teller Machine (d) Asymmetric Transfer Mode
(vi) ISR TR i I A1 T2 7 ‘
(a) = Ssfagy (b) HHATE
(c) | FaT (d) ITET Y T B
What is the main advantage of fibre optics ?
(a) High Bandwidth (b) Low Cost
(¢) Low Security (d) Easy to Install
(vii) eI oRETT ST JETT TR 7
(a) A a1 TRI (b) s EdEA

(¢ T e s e (d) R

What is the purpose of multiplexing ?

(a) Error Detection (b) Data Compression
(c) Combine Multiple Signals (d) Encryption
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(viii) e @ & @i &1 76 LAN el @ ?

(ix)

x)

(a) U (b) TCP/IP

() MPLS (d) THE.25
Which of the following is a LAN protocol ?

(a) Ethernet (b) TCP/IP

(c) MPLS (d) X.25

OSI Tiget A HIF T SR difehes TSE aTell HTH LT & 7
(a) TwRpat (b) s fers

(c) T (d) gEae
Which layer of OSI model deals with logical addressing ?

(a) Physical (b) Data Link
(¢) Network (d) Transport

[CMP ST qU A RT3 ?

(a) RECHFIA AN (b) A B HES SIETAICT

() ST HoIet Hroie TIehiet (d)  $eTTet ShiTRE HHSTHE SEIehlet

What does ICMP stand for ?

(a) Internet Control Message Protocol

(b) Internal Communication Message Protocol

(c) Internet Control Management Protocol

(d) Internal Configuration Management Protocol (1x10)

YA —

Section — B

TefNea Q TATeT st 9 37T T FHEd § ?

What is the Digital to Analog Conversion ? 3)

TR ST ! Fwaral &1 w89 | Tl o |

Describe in brief the characteristics of a Wireless Channel. A3

Ter wegfrehy 1 Tl o el <hl ST B |

Explain the types of Errors in Data Communication. A3

R HRIFHYA g & faftr werrl &t ==t i |

Discuss the different types of Wireless Communication Standards. A3

HTTeheT HTEa 3 HIIT haiel oh ehTarcl TN <t =i |

Discuss the advantages of optical fiber over copper cables. )]

Yoo Tl 6t a6 989 § SIE |

Explain in brief the concept of network routing. A3

P.T.O.
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8.

10.

L1,

12

13.

14.

13.

Seafeh o 32 UShwE ST HEE R TR 7

What is the importance of data encryption in networking ?

Nyquist ! &afert o =1 2 ?
What is Nyquist sampling theorem ?

Qo — ot
Section — C

“Teaeh ratettof o Tt W 37k 37 it i frear § srE 5 |

Explain in detail the different types of Network Topologies & their functions.

OSI Tget H fafiy= TR 37t 37eh il < forya sz 1 |

Explain in detail the different layers and their functions in OSI Model.

crafhe wfifean 3 faftm w1 Rrar @ aufy =t |

Describe in detail the various types of Transmission Media.

ARRTY Heash | mfeferdt fstile 8 ) st € 7 s |
How is Mobility Management done in Wireless Networks ? Explain.
() Teafem 3 38 Tl ol aRuTfya o= |

Define Switching and its types.
(i) wfhe feafem s Gene feafim & =7 o & 7

How is circuit switching different from packet switching ?
Write short note on :

() ATM
(i) DSR
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